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1 KEMH R7.6.9 BRARLW=I1T (%) BRHEE9(<48) 12.1 12

2 EBILT R7.6.10 BEERLULV =T (HEER) BREET(<3.9) BEET(<3.1) ke
3 BT R7.6.11 BERLULV =1 (FEER) BEE9(<5.5) BREE9(<45) BRHET
4 FEM R7.6.11 BRLULM=IT (FEER) BRHE9(<4.3) BRHE3(<3.8) BHET
5 RIGF R7.6.10 BERLULV =1 (FEER) BREE9(<5.7) BREE9(<46) BRHET
6 WhEth R7.6.9 BERES T (FER) BRHE3(<45) BRHE3(<4.1) BHET
7 JI{RET R7.6.11 BREH T (MR B®EE(<28) BREE9(<25) BRHET
8 RIGH R7.6.10 BREG T (%) BmEET(<3.9) BmHEE9(<38) BREET
9 BT R7.6.11 BR=EE =T (% BREE9(<6.6) BREE9(<46) BRHET
10 =Fa7) R7.6.11 EREHHUT=1T (FER) BRHEE9(<47) BmEET(<48) BREET
11 iHET R7.6.11 BREHHUI=1T (FER) BRHE9(<3.9) BRHE3(<L35) BRHET
12 =Yg R7.6.11 EREHHUT=1T (FER) BRHEE9(<3.9) BmEET(<41) BRHEET
13 iHET R7.6.11 BREHHUI=1T (FER) BRHE9(<5.0) BRHET(<44) BRHET
14 FEAR U T R7.6.9 AE(FHE) BEET(<49) BmEET(<43) BmEET
15 T 4ERHET R7.6.9 =D (B4) BREET(<7.3) BREE9(<5.9) BREET
16 SERTHE R7.6.10 RENYI=F(FFE) BRHEE9(<6.1) 21.8 22
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